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Booklet No. Register No.

Time : Two Hours Max Marks: 100

IMPORTANT INSTRUCTIONS TO CANDIDATES

1. The Candidate will be supplied with Question Booklet 15 minutes before commencement of

the examination.

2. This Question Booklet contains 100 objective type questions. Before .answering, the

candidates are requested to check whether all the questions are in seriatim and ensure that
there are no blank pages / Questions in the question booklet. In case any defect is noticed, it
shall be reported to the Invigilator within first 10 minutes and get it replaced with a new

same series Question Booklet. After 10 minutes of the commencement of the examination, it

will not be replaced.
3. Each Question carry one mark (No negative mark).

4. You must write your Register Number in the space provided on the top right side of this page

without fail. Do not write anything else in the Question Booklet.

5. Personalized OMR Answer Sheets of the Candidates will be supplied by the invigilator for
answering the Questions. If the OMR Answer Sheet, is in anyway defective, the same shall be
brought to the notice of the Invigilator immediately before shading, so as to supply a spare
OMR answer sheet.

6. You must write and shade your Question Booklet number in the space provided in the OMR

Answer Sheet without fail with Blue or Black Ball point pen only.
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PART A
1. Choose the verb for the space to express the given meaning:
You type ten pages in two hours. (ability)
(V can (B) may
(C) must (D) would

2. Choose the best option for changing the following into indirect speech:
“Do you know why he is sad?”
She asked me whether
(A) Iknow why he is sad (B) You know why he was sad
(Cf I knew why he was sad (D) Did I know why he was sad

B Read the following and pick the best question form from the options :
The guests may arrive now.
(A) May the guests arrive now?
(B) Will the guests arrive now?
(Cj Are the guests likely to arrive now?

(D)  Will the guests not arrive now?

4. Choose the correct grammatical label for the word ‘ inhuman’
(Af adjective (B) noun
(C) verb (D) prefix
5. Pick the appropriate phrase for the space in the sentence:
There are a few benches the hall.
(M in front of (B) by the side of
- (C) along with (D) apart from
A 3 AREX255
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6. Pick a more suitable word from the options for the word in italics:
He damaged his foot.
(A,, injured (B) harmed
(C) lamed (D) crippled
7. From the given options, choose the one that is nearest in meaning to the given
word.
Hinder
(A) Help ( Impede
(C) Bother (D) Control
8. From the given options, choose the one that is farthest in meaning to the given
word.
Discrete
(A) Shrewd (B) Stupid
(C) Unkempt (QfComposure
9. A related word is given. Now from the given options, choose the word(s) the

best completes the relationship similar to that in the given pair
e.g: Fox: Cunning.

(A) Bus: School (B) Tool: Dentist
((y Taj Mahal: Beautiful (D) Class: Students

10. Out of the four alternatives, choose the one that can be substituted for the
given words/phrase.

A speech delivered without any preparation

(A) Straightforward (RY Extempore
(C) Verbose (D) Maiden

AREX255 4 A


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

et

i 8

12.

13.

14.

15.

Sorpe parts of the sentence have been jumbled up. Rearrange these parts
which are labeled P, Q, R and S to form a sentence. Choose the proper
sequence.

I believe that

Tendulkar’s century will always remember cricket lovers on Tuesday.

Q R S
The proper sequence should be:
(A) SRQP (Ef RQPS
(C) PSRQ (D) PRQS

Fill in the blank from the given options.

I called the company to why it denied me credit.
(A) trace (B) persecute
(QI ascertain (D) search

Fill in the blank from the given options

He eating the food.
(A) realised ( relished
(C) rebelled (D) rejoiced

Fill in the blank with suitable preposition.

We discussed the economic crisis.
(A) about (B) at
(C) on (D!No preposition

Fill in the blank with suitable adjective.

He is than I am.
(A) elder (BJolder
(C) eldest (D) oldest
5 AREX255
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20.

Choose the best word for the space in the sentence:

He felt that his legs would not support him.
(A) sure ( certain
(C) doubtless (D) certainly

Pick the comparative degree of ‘kind’:

(A) kindly (B) kindlier
(& wnrelind (kainder

Choose the correction for the word in i1talics:

As the train left we managed to get into it.

(A) had left (B) has left
(C)l was leaving (D) would leave

Choose the word that would replace the words in italics:

~ The police will catch those who ran away.

(A) disappeared ( absconded
(C) left- (D) departed

Say which option is correct for the word ‘people’:

(A) It has no plural form (B) It is singular
(C) It is both singular and plural (Dj It is a plural only word

AREX255 6 A
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21. Identify the word or name before which ‘the’ is not used:

A) USA (B) Sun
(C) Ramayana (IJ Everest

22. Choose the word or phrase that will replace the words in italics:

History praises those who love their country.

(A,)I\ patriots (B) freedom-fighters

(C) soldiers (D) social workers

23. Pick the best meaning of the word ‘wither’:

(A,), to become dry (B) to shrink
(C) togrow small (D) to die

24. Pick the right word from the options for the space in the sentence:

I was angry the results.
(A) with (Hfat
(C) for (D) about

25. Pick the sentence that puts the word “formally” in the right place

(Af He went up to the table and formally spoke to the Manager
(B) He formally went up to the table and spoke to the Manager
(C) He went formally up to the table and spoke to the Manager
(D) He went up to the table and spoke to the Manager formally

A 7 AREX255
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26. Answer the questions on adverb.

The sentence, ‘He works hardly’ means

(A) He works very hard (B) He works hard
(C) He works always (Dj He does not work

27. Pick the correct passive voice sentence for the following:

Please bring a pair of pencils.

(A) You are instructed to bring a pair of pencils
(B) You are ordered to bring a pair of pencils
( You are requested to bring a pair of pencils

(D) You are expected to bring a pair of pencils

28. ‘Nourish’ means

(A) to make rich (Bfto give food
(C) to make strong (D) to make healthier

29. Which word describes something different from others?

(A)I position (B) dock
(C) bed (D) flower

30. Choose the best question form for the following sentence:
He might include the second name in the list.

(A) Might he include the second name in the list?
(]EQ, Is he likely to include the second name in the list?
(C) Might he not include the second name in the list?
(D) Will he include the second name in the list?

AREX255 8 A
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31.  Out of the four alternatives, choose the one that can be substituted for the
given words/phrase.

A place that provides refuge

(A),,Asylum (B) Sanatorium
(C) Shelter - (D) Orphanage

32. A set of four words are given, marked A, B, C and D, spelt in four different
ways. Choose the correct spelling.

(Aj favourite (B) favourit
(C) favoarite (D) favorite

33. A sentence has been divided into three parts. Select the one that contains an
error. If the sentence contains no error, mark (D) as the answer.

(A) either my sisters (B) or my brother
(Cf are coming today (D) no error

34. Answer the following with suitable question tag.

Ravi played hockey,

(A) did he? (B.Ididn’t he?
(C) does he? (D) doesn’t he?

35. Answer the following with suitable question tag

They are laughing, ?
(A)/ aren’t they? (B) are they?
(C) do they? (D) don’t they?
A 9 AREX255
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36. sfled Qasdlugdler 4spaumnmaeur
A) ygewl9sser @ Ung@nqnummJ
(C) QgusThbser (D) eunsndl

37.  uramgwerufa ereb @Gnib sreflwFens LenL SHeu

A)  umpdwumm @ unuglg,rrgm\/

(C) sawamsrger (D) euranfigmae

38. diseusbum erem LML LILI(HLGUT

@ AL amriGarener (B) afpwmrupeieur
(C) &.uy. Cuml (D) eueLyflgyme

39. sWlpsTL TS QL bELIHMD HI6 6T)?

A)  urgpemelleLgid (B) sllp&slufenssd)
©) @rreuemsmediwid @ m@mne’mmmﬂmm\/

40. 2 ®858CaCGw sOPLALIPYIESETS 2 s IHTH HLSHW (PSe BI{H

@ TEEE (B) smuerbg
C) @pdwur (D) &evmm
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41. B (UL QeSHETDeT LML )& @ BT g WD Dpiq Wl (P& ©lLiesr
(A)  eeugupbdwmer (B) usiefil
@ urreu&qdum;_ﬁ\/ (D) Gsmuenm

42.  srler alaTsmss GNSEWD ellemiE

(B) fmswb

(A) sy
© q@m\/ ) e

43.  yeent weUIL@GHuled eurpLIGITSET

@ STL_T&ET (B) Gariser
(C) u@msiser (D) @merraar

44.  prHb QumAubd BLog) &) SETEHET cTETS FoHlILIGUIT

A) salweanfl Cséls aflprusd Gerener
@ Loa;rrasafﬂurruﬁu_lrrr'r/

(C)  eu.o. Agburermi
D) @ur.4. Geglulerener

45.  gwlumrsriGunisatd @ bAumLiemeu
A) BaCssl @ ﬁeua;éﬂ(r_’r)grrwmﬂ\/
(C) wsTUTHSLD (D) @QGussTeNwD
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46. Seuudstrsde @LbEUDHD @mIEs D6TETET

O -t

(C) eNsfywumees

47. sl Qgemmed eres LmymlL L Qumiuelr

(A)  eu.su. LrelEsD

©) . aupsymsen

48.  Hlsar(h eremug)

A)  wmsgeuET®

) AnusrsSyd
49. @emermprouSler < Mfwim
@ asuﬁ]a)r'r\/

(©) puysenmt

50. dlpsdladlmbg eiad srhbler Quwi
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PART C

51.  Which of the following software is not a web server

(A) Apache

(B) Internet Information service (IIS)
(C) Mongoose

@ Python\/

EpsareupPled 6hE Qear@unmer euame GCaeneuwsd (Web server) @eame
A) wungs

B) Qo sseud Cranal

(C) rsmen

D)  ousser

52.  Which among the following is not a social media
(A) Facebook
(B) Twitter
(C) LinkedIn

O Eeoxv

EpaEeRT_cuDMI6) 6Tg) Fepds 26T &b @)DEnen

A wpspre (CuevLs)

(B) el
(C)  Orusten
(D)  @uerdad
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53. Who appoints the Chief Justice and Other Judges of the Supreme Court
of India? ;

(A) Prime Minister of India
(B) Parliamentary Joint Committee

(C) Ministry of Law and Justice

@ President of India/

QpHw 258 BHoapsdear smwmw BHUS wOHMD 2 FF f,g%\méng) BHudgener wimt
Blwilss Ceuerr(Hb?

A)  @pHuls s wHd
(B) umpnEpweamssen sl (Hs &P
(C) &lLbwpmbd fHsgImD SeLEFSLD

D) @QpHwus GpwrsEs sameaur

54. Green Revolution in India 1s also known as

(A) Seed, Fertilizer and irrigation revolution

Agricultural Revolutionv/

(C) Food Security Revolution
(D) Multi Crop Revolution

@ndwrelen Ll Ll gl eranm iemp&sLiu(heug)

A)  &lleng, 27, Log'jgub ungeTl Yyl &l
B) efeusmwls Yyl

(C)  2ewey ungaTiLl Yyl s

D)  weuulr yrld
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55.

56.
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A town’s population increased by 1,500 people, and then this new population
decreased by 12%. The town now had 60 less people than it did before the
1,500 increase. What is the original population of the town?

(A)

O
©)
D)

13,000

11,5005/

11,440
10,000

R BaTSHer s AgTams 1,500 <46 oidsMsss) et oibs USW wésar Qsmms
12% <486 @eonbsgl. 1500 wéser (grans g(heugsnd@ (perearm @wHsmns 6L sHGLITE)
60 Gur parsdler Gemeurs QH&SDTISET. bs B&FESaT QMBS W&SET CsTems
GTEUGUGTEY?

(A)
(B)
(©)
D)

13,000

11,500
11,440
10,000

In a community 28 percent speak Tamil, 7 percent speak Telugu, and
5 percent speak both Tamil and Telugu. What percent of this community

neither speak Tamil nor Telugu?

(A)

(B)
©)
D)

30 percent

70 percen
60 percent
95 percent

QR FPSTwSHD 28% F8lp CuaD WasEHD 7% CFmE@ Cusd W&ESHEHWD LHDHID 5%
O wHnD QsaniE CusD WasEHL @MmeHnrisar. sBIGCT g CsamGsT

Cusng wasaflan 5648510 ereucueara]?

(A)
(B)

©)
D)

30 s5644l510
70 gz694l5D
60 55644150
95 #5450
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57. Train A traveling at 60 km/hr leaves Mumbai for Delhi at 6 P.M.
Train B traveling at 90 km/hr also leaves Mumbai for Delhi at 9 P.M.
Train C leaves Delhi for Mumbai at 9 P.M.

If all three trains meet at the same time between Mumbai and Delhi, what is
the speed of Train C if the distance between Delhi and Mumbai is 1260 kms?

(A) 60 km/hr (B) 90 km/hr
©) 120 km/hnd (D) 135 km/hr

wafllsE 60 8.5 Caussde Csogd A eam @@ Lamseuary wpbaUudledmbs)
QLebell& @D rene 6 wewtlsEs SlerbLdlmg

warllsE 90 &5 Ceussdled Ceogid B eramm @ Lamseuary pbeLiudedbg
QLevelE@h @re| 9.00 wewtlé@E, SHermbLlng

C erenm yenseuainy QLaeSlulall(hbgl (pamusE @re| 9.00 weafléE SerbLdmg.
QLevellds@d (pbausE 2 der giyb 1260 §.5. @55 epemm euemy&Ehd (pbenL
wHL QLoadsEd QaLCu @ty @Lsda spdsster C eramm euamguilear Geusid

CTEUGUGTGY ?
(A) 60 &b/ wewfl (B) 90 &b/ el
(C) 120 &b/ wewfl (D) 135 i/ wemf

58. The gas usually filled in electric bulb

(A) Hydrogen @ N itrogen/

(C) Oxygen (D) Carbon dioxide

Wl Lebled Bl eumy erg)?
(A)  eanl e (B) enpLyegen

©) <ysfmer (D) sriuer el pEemenL
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59. Curd is sour due to the presence of

(A) acetic acid

(B) tartaric acid

lactic amd/

(D) oxalic acid

U eTgem sTreRTLTS LjeflLiLTs @mesng)?

A) <fls Sdled

B) Lmrorflé odled

(C) Cosigs sjdled

D) <ysarells ilevd
60. Which unit is not related to temperature?

Fahrenhelt " (B) Kelvin

@ Jouleng” (D) Celsius

QeulILISGIL 60T FIDLBSLILIL TS AV, 6TGI?

A) GuyeranL B) Qseaeller

(C) x99 (D) Qsevdlwev
61. Which gas is used in fire extinguisher?

,@ Carbon dioxide\/ (B) Magnesium

(C) Helium (D) Nitrogen

SwenenTliLImetled LweTUHSSUILIMHD UL 6Tg)?

(A) srueT L ysamenL_ (B) Qusaiflwibd

(C) adedlwd (D) enpLyegen
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62. Bhopal gas tragedy, which is considered to be one of the world’s worst
industrial disasters caused due to leakage of which of the below mentioned

gas?
@ Methyl isocyanate/ (B) Potassium ferricyanide
(C) Carbon monoxide (D) Hydrogen cyanide

2 adler WsLEUflw Qzmfibsrere Gurfley erarm smsLLGD Gurumed ebageury
FbLeuSSe Spsem_cunle s&leurar Uy erg?

A)  Quwsde nGsrangwiCer B) QumiLrdlwb Quiflenswene(h

(C) smiuer Guraméems(h (D) eanl e enswiena(h

63. The reason being emergency holidays are declared by the Government under
Negotiable Instruments Act

@ Negotiable Instruments maturing on the date of emergency holiday
should be paid on the next day

(B) Interest due need not be paid for the holidays declared by Government

(C) Banks need not function in view of leave declared under Negotiable
Instruments Act

(D) Stock Exchange will not function in view of leave declared under
Negotiable Instruments Act

SeusT &M NHPEODEMET 4TS Lorrg')gj@mﬁ) SeuemssLid & eNHousns
<MlefiLigen Sryewrd?

A) e st Bwen e PpHieueL LD WDIDMILPED <466 hIEEHEES
&S (Hpenms&@ mibrer Land Qea)dsliuL Geuar (b

B) sy st Ruenn Cadwany cul g Qeqsss Comaiuiaomen

(O)  eaumdwur wronpenn euand L LiLig eAHpen SiMelss Cadwenn Ceuame
Qelwg Caenaiulerena

D) ukEssHog LIHN D e FLsSHar &L el Hpenrn siMelii Cadwernm
Geuaner QEliwimg
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padaler

64. Which major country does not have a written constitution?
(A) Russia
(B) Iran

(C) Germany

@ United Kingdom/

Qéleb erhs L1 Gl Bmiiged eTps it L rélwed HewliLé FL b @)ena?

A pegwm
B)  rmpmen
(C) Qgwefl

D)  wewer@L S ibd

65. The term ‘We’ in preamble of the Constitution of India means
(A) Indian Government
(B) Supreme Court

(C) Indian Parliament

@ The People of India/

QrHw sirflueenolifern wperageyuded "Brb" eTemm GO 1 (HLILIGET CUTHET?
A) @BHu SiremhsD

(B) 2ssBlwearmd

(C) @bHw umgmEpLoeTDHLD

D) @pdw waser
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66. Who gave the slogan "Jai hind" to the nation?
(A) Rajendra Prasad
(B) Rabindranath Tagore

(C) Bhagat Singh

@ Netaji Subhash Chandra Bose/

BT gH&E Rwadlbg cTap (PREG508S ShEeu
)  Cxpdrs Gyens

B)  rSpdyprs srew

©) ussf

(D) Cpsrel suney snrGLmen

67. Who is a 'Notary Public'?
(A) Advocate
(B) A person well noted by the public
@ An official having authority to certify deeds\/

(D) Attorney

CrmL Ml uliefls eremuieurm wimm?

&) eupsE@DEsT

B) Qung wasermed SBRESTTD QFUIS 6p(1h BLIT

C) euammsamer ramafllés 2 Mevw QuHn e

D) <l imrefl
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68. The word refers to an age related status that has legal
ramifications
(A) child (B) senior citizen
(C) infant ® juvenile

FLLLD &MTHS euwgl QFTLTLenL_ LI eUTTSHENS 6T ?
A)  epbos (B) wés Gy losan
©C) &8s (D) @erepAmm

69. The transition from child to adult involves a change in

(A) Status (B) Rights

(C) Responsibilities @ All the above/

GLbmsL LiheusHedlmnbg euredlu Liheussn@ wrmiibCurg emu(bib wrHmd
@A) s B) o Menwser

(C) sLmwsEr (D) CuwCe sar_ ojenenggbd

70. If Amit’s father is Billoo’s father’s only son and Billoo has neither a brother
nor a daughter. What is the relationship between Amit and Billoo?

(A) Uncle — Nephew (B) Father — Daughter
@ Father—Son/ (D) Grandfather — Grandson
SisHen sheavswreareut Geq erareuflar shaguder s peumr. HAdaIeysS

sCa1srCrT d@g WGt @Qdme. JASSHEGD NOEI6IEELD @enLCGu 2 drer
2 ME(LPEHM GTEIIET?

(A)  moT— WHLSET (B) spens — wsar

(C) sHMS— aET (D) smggm— Guyer
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71. Two cars start from the opposite places of a main road, 150 km apart. First car
runs for 25 km and takes a right turn and then runs 15 km. It then turns left
and then runs for another 25 km and then takes the direction back to reach
the main road. In the mean time, due to minor break down the other car has
run only 35 km along the main road. What would be the distance between two

cars at this poin
@ 651 (B) 75km

(C) 80km (D) 85km

@@ Yrsrer steoeuled @ram® srisdr adr eadi Hosulalmpbg 150 &S
Qarenaeillal(mhg HerbLdlng (pse s 25 .15, Geeam Gereant euag LssD HHbLA
15 .18 gy Qevdlpg). DeanT Sibs &TT @)L g L&sD S 25 &.15. girb Qe na.
Yemenm  =4p5 &M e gl Crrsdl swdlng. Qsndleanule Hm Lipdler
sryewtons wHGPTH & Grsrer graouie 35 §.5. gmb ey Qgamg. sHCLITE

Qe () s EhsSlenL_ G 2 6TeT HIFLD cTeeIETE,?
(A) 654815 (B) 7545
(C) 8045 (D) 854.8

72. Ravi wants to go to the university. He starts from his home which is in the
East and comes to a crossing. The road to the left ends in a theatre, straight
ahead is the hospital. In which direction is the University?

Q) North\/ @), South
(C) East (D) West

76l LEME H&5HNEE CFde eblmbLSAprT. fipsdld o drar sieurg ol gambs)
e HleTblll @b GMISE@ FTenadE@ auBADTT. @LgILDD 2 drar e HCwL L MNe srene
pyemLdpgl. CrGr wmsgeubmear @QMmaSng. s Homsuld LOSMOSPSD

BmEsing?
@)  aLsg (B) Gsne
©)  fpss (D) Cuie
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73. This question contains six statements followed by four sets of combinations of

three. Choose the set in which the statements are logically related.
(1) All books are having pages.

(2) All kings are having pages.

(3) All Kings are books.

(4) Some heavy things are books.

(6) Some books are heavy.

(6) Some heavy things are having pages.

A 1,23 (B) 4,5,6

(C) 245 @ 1,4,6/

@Qpg Gaerell m FhmsEHEHLT @QMHSEDG. AHHD 3 FHmONISSET QRETMIL G ¢RETM)
QsrLifyenLweneuwins @)(m&dng). eueilsbd 4 Qgr@daer srhssiul (hererg). ehs
QzT@S QsmLLjenL_uig) erenm S _Hluie,.

(1)  Smasg Ussshsealab LGSREE @)(HESHnS.
(2)  imasg SirFnsaflayb USRS @) (HSSDE.
(B) imaTEHFH STFTHEHLD LSSSHBIGET.

(4) o serwrear QUTHL&ET L SHHISET.

(5) S YSHHMISET SRTDTETENE.

(6) &eo sarwrer dumpLsafle) LESHRISET 2 6TeTg).

Aa) 1,23 (B) 45,6

©) 2,45 D) 1,46
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astabsmy

74. Which of the suggested answer is the missing step in the series? .

EC sar auflengulled 2 crer Ldlevsatled eThg LIFled N HULL @)L GFl6 eu(mLd?

(A)

O&

®
G
\

©

(&

D)

&
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Adda247)

GET IT ON
Google Play

75. A digital signature is

(A)
B)

O

D)

lg- 89l L_6b &EWITLILILD 6TaTLIG)

@)
®)
©
(D)

a bit string giving identity of a correspondent
a unique identification of a sender

an authentication of an electronic record with unique key only the
sender knows

an encrypted signature of a sender

Sl 55m& e LUl DL wrardansg sr(Hb e Hm GHuI@H
Si@iliyuefen @ saflliLl L SiepLwrarib

@I UemES LLHCW AsMbs W <y,euamrsd e saflss AmEsTrd
sigitiyueuriler smGass ensblu(pss

76. E-Book is the electronic version of the books which can be accessed using

O

(B)
(©)
D)

ICT tools and internet'/
ICT tools
ICT tools and intranet

None of these above

Q-usssd @M UssssHar Waeran Uiy aosl LwauBsS Q-UssssMS

S|EL_LIGTLD

A)  2fig Ghav wHmIb Ge@L B
(B) @&l Gevav

(C)  m8lg Géav wHmD e TramL
(D) GuCe sar_ ageb Gdame
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77. The Centre for Railway Information Systems - CRIS

(A)

O

©
(D)

Helps in Booking Railway ticketing
Develops and manage the IT Applications of Indian Railways/
Helps in tracking train movement

Helps in railway Signal Management

@rnuieCeu ss6ud semwliysstar ewwwibd (CRIS)

(A)

(B)

(©
D)

Tuile K&EGs mL udley Aelw 2 Foyflmg

Qrdw muilaGeudear sseud CAsTHd B USDS o (HeuTss WHMD HiTeudlss
2 5ai8pg)

Tuled cuenTly QeI @)L Sang Hem(HLdlig&s 2 e Elng

Tl Gou Hlseamene HlieudlsEs 2 Ho flmgl

78. Right to Pollution free Environment comes under

(B)
(©)
(D)

Article 21 Right to Life\/

Article 14 Right to Equality

Article 30 Right to establish and administer institutions

Article 19 Right of movement

L& Qe &HMILILUDE GLalssTear 2 Man arger S aumSmg ?

(A)
(B)
©

D)

AREX255

ayrd8l 21 Uy eumpeyssmer 2 Menwo

agr&g 14 Lig F0 2 Mepo

3758 30 L. Fimeiamhisamer cusTa&EWD LHMID BlTeudl&Ew 2 Manwo
a3r538 19 Uiy @6 QL&815@E Caaaib 2 Menw
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Addai247

79.  Which is the largest snacks company in India?
(A) Parle
®© Haldiramd
(C) Bikaner Wala
(D) PepsiCo

@pdwreie BlasliGuflw Sy Safl (snacks) swGue erg?
A)  umrCev

B)  spodims

(C) Wsmrert eumeom

D) QuusHCsam

80. Which state government has launched Walk to Work on Wednesday
campaign recently?

(A) Maharashtra
@ Meghalaya/
(C) Andhra Pradesh
(D) Karnataka

ahs wrhlen sBusHd ysar Spamwsalsn eurs B @ié (Walk to Work) eremp
Sl gmg gloussl wasss!?

(A) wapmyTevLFT

(B) Cusmeowm

(C) <pdHri 9rCssabd

(D) srprLsT
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81. Two rectangular paper strips of length 10 inch and width 2 inch are put flat on

a table such that they overlap perpendicularly so as to form a + symbol. How

much area of the table is covered?

(A)

(B)
(©)

)

10 inch

26 inch

40 inch /
36 inch

10 @eir& Barid 2 @6rg &L 2 aiter 2 QFeucus aulgeu STeTaar ¢(h Goens WBg) L L oms

MeuSHILILL gl i sl L GOuIEH Curd (+) Curd genler g qermrs CemEGssns

L mbesl. sHGung Goasuden eTeleueme] LFLILIGTE bBSS STETHETTE @PUIUL (HaTerg)?

(A)

(B)
©
D)

10 @eré
26 @)eni
40 Qs
36 Qs

82. Find the largest number which divides 1230 and 1926 leaving remainder 12 in

each case.

@

B) 6
174~/ D) 12

1230 wpmb 1926 eow eu@gsred 12 055D HoLsen B Quiu aaranems

ser(HLlg..
A 29 B) 6
C) 174 (D) 12
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A

The ingredient used for making bio degradable plastic
(A) Vegetable oil

Petroleum

@ Corn starch/

Rubber

108565 . tg L1 LNGTTGDIG S 2_(HAUITSGASHE LILGTLSSID QU
Q)  smLsH eram@ai

B)  QuiGyre

(C)  Germr omay

D) plur

“Fools gold” is the common name for this mineral :
(A) halite

(B) cinnabar

@ pyrite\/

(D) magnetide

THES S1El e CamaLl” eranm Siep&aLiL(HE D) ?
A) aeneel

B) Hererumm

©C) euer

D) CuwseenLL_

Adda2417)
83.
84.
A

29

GET IT ON
Google Play
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85. The scientist who shouted “Eureka” ! Means ‘I ‘ve got it’
(A) Anristotle ' Archimedes
(C) Newton (D) Galileo

g4 &g N CLen eramm  QUT(HEHEL W “u.|(8r;§5rr” e < pyeurpillL

6l @pepmetludle @ LiwIr?
A <iflevmged (B) <y rsdlibligen
(C) HulLer (D) s0CGwT

86. Chickenpox is caused by
(A) Rubeola @ Varicella-zoster /

(C) German measles (D) Varicella virus

Slananibeno ergened rHU(HSDS?
@A)  mGueor (B) eurfl@aeam-GemevGlit

(C)  Qamwen ojbenio D) eurfQasrer enauryen

87. Ball pen functions on the principle of
(A) Viscosity (B) Boyles Law

(C) Gravitational force Surface tension\/

LB perar s CUETT eThs Sdgleusdlen gl ude dewueou®hEng?
A)  levsrdliig (um@blene) (B) ur@uévev 64

(C)  yeuiriiy elens (D) ypugler G peilans
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88. A restaurant owner sells a water bottle for Rs. 34, which had a maximum
retail price (MRP) of Rs 12

(A) the trader or service provider can charge more price than item’s MRP
printed on the packed item, if delivered packed

@ the trader or service provider commits malpractice for charging higher
amount thgg MRP, if delivered in packed form and the same is against
the law

(C) the owner of hotel can sell water bottle only up to twice the MRP rate

(D) none of the above is correct

@ Ganml_ e e fepwwmert p. 12 &@ Siflsul’s alane allhasCeudmriqw e LM ig 6

seBTamtenty ¢h. 34 &@ eflhLemer Qelifmmit

Q)  em elwururfl g Come aupmEGhT e Qurmaiar wifsul s afleaaw
el =dls elenevs @ ummener GLig QFu1g) D UL F&5$l6 6SlHaseaid

B)  <@ps Awrurfl g Csameu eupm@pt Cus Qaug GQurmenar i
@MU Herer  oifles uls dmeamwel sm@Osw CgrassE dbmre
FLL 55 0&E (prevrmear (pepmGaHh CFISSTS &(HgLIL(HeumT

(C) @uan(® wLhE <Hs lamoeimy WLEHGWL Hs Capr e o Mepwwmert
eilpLIenet GlEFuIuw(piguLd

D) @dle ergie|Gw @eeane

89. Mandal Commission uplifted
(B) ST

A) SC
@ oBc (D) OC

LOGRTL_G) HLOQGYET GUE)I G, I ?
(A)  erewen (B) eravig
€) @94 (D) @4
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90. Who will act as the banker to the Government of India?

(A) SBI (B) NABARD

(C) World Bank @ RBIn

QbW SiFeThIGESS 6 euBIE WITETT WTT?
/ (A)  umMs G aumd (B) pumi

C) o osamd (D) Mereu ummig <t @bSlwm

91. Which of the following statement is not true about Subramania Bharati?
(a) Bharati was the sub-editor of Swadesamitran
(b) He translated Tilak’s Tenets of the New Party into Tamil
(¢) Bharati’s Guru was Swami Vivekananda

(d) He was editor of a woman’s magazine by name Chakravartini
(VIR B) (o)

©) (a) @ None of the al')"ove\/

Speumauaraunmled orgl &Ubpwanfliu urrdl @olsg Ll (Herer eleurrisaicy Heummer
eSlumn?

(@) umrd &Cs8 WGreaflen genanr <AMwirTe @) HHSTT

(b) sllfle Feovdlen LFw sH& Qararansemw Gwmdh QuWrggmT
(0  umpduler @m seurs elCousmerbgT

(d) ssareundlaf erenn Quairaer L NEmauder <A flwr

A) (@) B) ()

©€) (a) D) Qe ggioame
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92. The clouds float in the atmosphere because of their low:

(A) Velocity

(B) Temperature

@ Density/

(D) Pressure

Epeumeuaniled ergl Gemmeuns @ HLILSTED G euafibam sl Wssdng ?
(A) Geusd |

(B) Qauliublene

C)  <iLisd

D) <uyssd

93. What is the dark figure of crime?

@ crime that goes unreported to police and is never counted/
(B) crime that is reported to the police but is not counted in statistics
(C) crime that are particularly violent

(D) its police slang for burglars who wear dark clothing

@oosder Dark Figure erenmmmed ereven?

A) sraagonseE 0sflleldsiLLTg LOHMILD Sarssle arTs GDMmLD

B)  sreud gense Osfedésiing L oyame sarsdo QsrarGagiuLTs GHpb
©  @fouTs shewvune @pid

D) a;@ﬂq glanfl oiemfllbg Qararearuigamar srale gennwmed GHUEGHD euTTsms
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94. One morning after sunrise, Suresh was standing facing a pole. The shadow of

the pole fell exactly to his right. To which direction was he facing?
(A) North

(D) Data is inadequate

GNu 2 susHDsEE G e Brer sraauid &Crey eeamLelm @ sbusms CrTés
Blemy QeremgBHsTD Abs Hbusder Hipd sllwns sCrafler eiagLnsd el(WPHes.
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95. A man walks 5 km toward south and then turns to the right. After walking
3 km he turns to the left and walks 4 km. And then he goes back 10 km
straight. Now in which direction is he from the starting ‘;)17 ?

(A) South-East @ North-West

(C) South (D) West
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96. A horse is facing north. It turns 90 degrees in the clockwise direction, then

180 degrees in the anti-clockwise and then another 90 degrees in the same

direction. Which direction is the horse facing now?

A) East @ South
(C) Southwest (D) Southeast

@M GSeor e s@ Crredl Qmadng. <ig 90 wdfl syary Hosled FHmbydng.
Yewranm 180 4l suamy erdlim Hevgufer HHwydng. G Havguier WBar®Hin 90 g &

Hmbydlngl. sHCLTE eThs Hasamw Crrad @dar @ HaEHng)?
Q) fpss (B) Gsp®
(©)  QsarGuope (D) Qpardlipie

97. If ‘Apple’ is called ‘Orange’, ‘Orange’ is called ‘Peach’, ‘Peach’ is called ‘Potato’,
‘Potato’ is called ‘Banana’, ‘Banana’ is called ‘Papaya’ and ‘Papaya’ is called
‘Guava’, which of the following grows underground?

(A) Potato
(B) Guava

(C) Apple

@ Banana\/
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98. Which glass beaker is more likely to crack when filled with hot water?

L)L

a/ (B) b

(C) bothaandb (D) None of the above
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- 99. Which way would the bimetallic strip bend if heat were applied to it or would
it stay straight?

Brass

I |

Iron @
(A) Bend upwards Bend downwards'/
(C) Stay straight (D) None of the above
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100. This question contains six statements followed by four sets of combinations of

three. Choose the set in which the statements are logically related.

1)
(2)
(3)
(4)
5)
(6)

A)
(©)

Some women are those who are successful in life.
Some men are those who have patience.

No man 1s a woman.

All those who have patience are successful in life.
Some who are successful in life are men.

Some men are not those are successful in life.
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1,3,8 (B) 42,6

1,5,3 (D) 24,5

37 AREX255
[Turn over


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A Google Pl
oogie Pla
Adda247) gle Flay

SPACE FOR ROUGH WORK
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Y Each question has four responses () © and (D). You have to select ONLY ONE correct
answer in the OMR Answer Sheet. In case you feel that there are more than one correct
answers, mark only the answer which you consider the most appropriate. In any case, choose
ONLY ONE answer for each question. E.g., If for any question, B is the correct answer, you

have to shade as follows:

@000

8. The Question Booklet is printed in four series viz., [A] [B] [C] & [D]. The name of the series is
printed on the top of the Question Booklet. Mark and shade your correct Question Booklet
series [A] / [B] / [C] / [D] carefully in the OMR answer sheet by darkening the appropriate
circle without fail. In case of any wrong entry of Booklet series or discrepancy in determining

the exact booklet series, then, in all cases your Answer Sheet will be invalidated.

9.  You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take the Question Booklet and the Answer Sheet out of the Examination Hall during the time
of examination. You are permitted to take the Question Booklet only after the Examination is
completed.

10. Do not write anything in the Question Booklet, except in the space provided for Rough work.

11. Failure to comply with any of the above instructions will render you liable for action or

penalty as the High Court may decide at their discretion..

12. Using Whitener / Blade / Eraser or any kind of tampering to change the answers on OMR

answer sheet will lead to invalidation.
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